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Approach- How to solve sitting Puzzle
Q.1

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

Which of the following statement shows ‘W ≥ K ’ and 
‘R < C’ holds definitely true?
कनम्न में से कौन सा कथनW ≥ K और R < C कनकितरूप
से सत्य है?
(a) R> F < C < W > E> M> K> L=T 
(b) R < F < C < W > E> M> K> L=T 
(c) R> F < C < W > E> M> K> L=T 
(d) R< F < C < W > E> M> K> L=T 
(e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.1

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

Which of the following statement shows ‘W ≥ K ’ and 
‘R < C’ holds definitely true?
कनम्न में से कौन सा कथनW ≥ K और R < C को कनकित
रूप से सत्यकरता है?
(a) R> F < C < W > E> M> K> L=T 
(b) R < F < C < W > E> M> K> L=T 
(c) R> F < C < W > E> M> K> L=T 
(d) R< F < C < W > E> M> K> L=T 
(e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.2

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression A < B < C < D < E < F < G  ,  C < P < Q < 
U < W is definitely true then, which of the following 
expressions will be True? 
यकद A < B < C < D < E < F < G  ,  C < P < Q < U < W
कनकितरूप से सत्यहो तो कनम्न में से कौन सी अकर्व्यक्ति
सत्यहोगी ?
a) A > Q
b) B < U
c) G > W
d) P > A
e)Both b and d

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.2

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression A < B < C < D < E < F < G  ,  C < P < Q 
< U < W is definitely true then, which of the 
following expressions will be True? 
यकद A < B < C < D < E < F < G  ,  C < P < Q < U < W
कनकितरूप से सत्य हो तो कनम्न में से कौन सी
अकर्व्यक्तिसत्यहोगी ?
a) A > Q
b) B < U
c) G > W
d) P > A
e)Both b and d

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.3

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression U< J < X<T< L< S>M > K > Y is 
definitely true then, which of the following 
expressions will be False? 
यकद U< J < X<T< L< S>M > K > Y कनकितरूप से सत्य
हो तो कनम्न में से कौन सी अकर्व्यक्तिअसत्यहोगी ?
a) U < T, Y > L
b) K > X,  J < L
c) S > X, J > M
d) U > X, T > K 
e)None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.3

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression U< J < X<T< L< S>M > K > Y is 
definitely true then, which of the following 
expressions will be False? 
यकद U< J < X<T< L< S>M > K > Y कनकितरूप से
सत्यहो तो कनम्न में से कौन सी अकर्व्यक्तिअसत्य
होगी ?
a) U < T, Y > L
b) K > X,  J < L
c) S > X, J > M
d) U > X, T > K 
e)None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.4

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression A > F = B > K, W > S < T, M< J = W < K
is definitely true then, which of the following 
expressions will be definitely False? 
यकद A > F = B > K, W > S < T, M< J = W < K कनकितरूप
से सत्य हो तो कनम्न में से कौन सी अकर्व्यक्ति कनकितरूप
से असत्यहोगी ?
a) A > W
b) F > T
c) B > J
d) M > F
e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.4

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If the expression A > F = B > K, W > S < T, M< J = W < K
is definitely true then, which of the following 
expressions will be definitely False? 
यकद A > F = B > K, W > S < T, M< J = W < K कनकितरूप से
सत्य हो तो कनम्न में से कौन सी अकर्व्यक्ति कनकितरूप से
असत्यहोगी ?
a) A > W
b) F > T
c) B > J
d) M > F
e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.5

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements: कथन:

All 1 is 9. सर्ी 1, 9 हैं।

Few 9 is 5. कुछ 9, 5 हैं|

No 5 are 3. कोई 5 , 3 नही ीं हैं|

Conclusions: कनष्कर्भ:

I. All 9 can be 3. सर्ी 9, 3 हो सकते

हैं।

II. Some 1, can be 3. कुछ 1, 3 हो

सकते।

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.5

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements: कथन:

All 1 is 9. सर्ी 1, 9 हैं।

Few 9 is 5. कुछ 9, 5 हैं|

No 5 are 3. कोई 5 , 3 नही ीं हैं|

Conclusions: कनष्कर्भ:

I. All 9 can be 3. सर्ी 9, 3 हो सकते हैं।

II. Some 1, can be 3. कुछ 1, 3 हो सकते।

Only II follow

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.6

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements: कथन:

All A is B.  सर्ी A, B है।

All G is O. सर्ी G, O है।

No O is B.  कोई O, B नही ीं हैं।

Conclusions:  कनष्कर्भ: 

I. Some A is not G. कुछ A, G नही ीं हैं।

II. Some B can never be O. कुछ Bकर्ी O नही ींहो

सकते|

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.6

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

Statements: कथन:

All A is B.  सर्ी A, B है।

All G is O. सर्ी G, O है।

No O is B.  कोई O, B नही ीं हैं।

Conclusions:  कनष्कर्भ: 

I. Some A is not G. कुछ A, G नही ीं हैं।

II. Some B can never be O. कुछ Bकर्ी O नही ीं

हो सकते|

Both Follow

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.7

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements:कथन:

No R is K.  कोई R, K नही ीं है।

All G is K. सर्ी G, K है।

Few O are R.  कुछ O, R हैं।

Conclusions:  कनष्कर्भ:

I. Some K can be O . कुछ K, O हो सकते हैं।

II. All O being G is a possible. सर्ी Oका, 

G होने की सम्भावना हैं।

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.7

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements:कथन:

No R is K.  कोई R, K नही ीं है।

All G is K. सर्ी G, K है।

Few O are R.  कुछ O, R हैं।

Conclusions:  कनष्कर्भ:

I. Some K can be O . कुछ K, O हो सकते

हैं।

II. All O being G is a possible. सर्ी Oका, 

G होने की सम्भावना हैं।

Only I Follow

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.8

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements: कथन:

Only Few C are B.  केवल कुछ C, B है|

No B is P. कोई B, P नही ीं है।

Some P is Z . कुछ P, Z है।

Conclusions: कनष्कर्भ:

I. Some B is not Z. कुछ B, Z नही ीं है।

II. All C can never be P. सर्ी Cकर्ी P

नही ींहो सकते है।

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.8

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Statements: कथन:

Only Few C are B.  केवल कुछ C, B है|

No B is P. कोई B, P नही ीं है।

Some P is Z . कुछ P, Z है।

Conclusions: कनष्कर्भ:

I. Some B is not Z. कुछ B, Z नही ीं है।

II. All C can never be P. सर्ी Cकर्ी P नही ींहो

सकते है।

Only II follow.

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.9

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If all the letters of the word ‘TRANSLATOR’ are arrange 

in alphabetical order left to right, then how letters place 

unchanged after arrangement?

यकद शब्द 'TRANSLATOR' के सर्ी अक्षरो ींको वर्ाभनुक्रम में िाएीं

से दाएीं व्यवक्तथथत ककया जाता है, तोव्यवथथा के िाद ककतने अक्षरका
थथानअपररवकतभत रहेगा?

a) Two b) One c) Three d) Four     e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.9

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If all the letters of the word ‘TRANSLATOR’ are arrange 

in alphabetical order left to right, then how letters place 

unchanged after arrangement?

यकद शब्द 'TRANSLATOR' के सर्ी अक्षरो ींको वर्ाभनुक्रम में िाएीं

से दाएीं व्यवक्तथथत ककया जाता है, तोव्यवथथा के िाद ककतने अक्षरका
थथानअपररवकतभत रहेगा?

a) Two b) One c) Three d) Four     e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.10

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If in a number ‘984527361’ all the digits are arranged in 

ascending order then first four digits are added by 1 and 

last four are subtracted by 2 and middle digit remains the 

same, then which 4th digit from the right of the new 

number thus formed?

यकद एकसींख्या '984527361' में सर्ी अींको ींकोआरोही क्रम में

व्यवक्तथथत ककया जाता है तो पहले चार अींको ींमें 1 से जोडा जाता हैऔर

अींकतम चार अींको ीं से 2 घटाया जाता हैऔर िीचका अींक समान रहता

है, कफर इस प्रकार गकित नई सींख्या में दाईींओर से चौथा अींकक्या

होगा ?

a) 3        b) 2        c) 6      d) 4 e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.10

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
If in a number ‘984527361’ all the digits are arranged in 

ascending order then first four digits are added by 1 and 

last four are subtracted by 2 and middle digit remains the 

same, then which 4th digit from the right of the new 

number thus formed?

यकद एकसींख्या '984527361' में सर्ी अींको ींकोआरोही क्रम में

व्यवक्तथथत ककया जाता है तो पहले चार अींको ींमें 1 से जोडा जाता हैऔर

अींकतम चार अींको ीं से 2 घटाया जाता हैऔर िीचका अींक समान रहता

है, कफर इस प्रकार गकित नई सींख्या में दाईींओर से चौथा अींकक्या

होगा ?

a) 3        b) 2        c) 6      d) 4 e) None of these

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q-11

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

275      745       824       456       385
If 1 is added to each even digit and 1 is subtracted 
from each odd digit and then how many numbers so 
formed will be fully divisible by 2?
यकद सर्ी समअींक में एकजोडा जाता हैऔर सर्ी कवर्म

अींक से एक घटाया जाता है तो िनने वाली नई सींख्याओीं में
ककतनी सींख्याएीं पूर्भ रूप से 2 से कवर्ाकजत हो ींगी?
a) 4 b) 2 c) 1
d) 3 e) None of these

CRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q-11

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

275      745       824       456       385
If 1 is added to each even digit and 1 is subtracted 
from each odd digit and then how many numbers so 
formed will be fully divisible by 2?
यकद सर्ी समअींक में एकजोडा जाता हैऔर सर्ी कवर्म

अींक से एक घटाया जाता है तो िनने वाली नई सींख्याओीं में
ककतनी सींख्याएीं पूर्भ रूप से 2 से कवर्ाकजत हो ींगी?
a) 4 b) 2 c) 1
d) 3 e) None of these

CRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q-12

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

275      745       824       456       385
After arranging all the digits in increasing order (within 
the number) what is the sum of third digit of the 
highest number and first digit of the lowest number so 
formed?
यकद सर्ी अींको ींको सींख्या के र्ीतर िढ़ते क्रम में व्यवक्तथथत

ककया जाए तो सिसे िडी सींख्या के तीसरे अींकऔरसिसे
छोटी सींख्या के पहले अींकका योगक्या होगा?
a) 7 b) 11 c) 9
d) 8                                 e) 13

CRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q-12

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

275      745       824       456       385
After arranging all the digits in increasing order (within 
the number) what is the sum of third digit of the 
highest number and first digit of the lowest number so 
formed?
यकद सर्ी अींको ींको सींख्या के र्ीतर िढ़ते क्रम में व्यवक्तथथत

ककया जाए तो सिसे िडी सींख्या के तीसरे अींकऔरसिसे
छोटी सींख्या के पहले अींकका योगक्या होगा?
a) 7 b) 11 c) 9
d) 8                                 e) 13

CRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.13-14

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Six persons P, Q, R, S, T and U having different height and 
they likes different colours. S is taller than R and T. S likes 
Black. The shortest among them likes White. The tallest 
among them likes Pink. T likes brown. U and Q neither like 
Red nor Blue. U is taller than Q. R likes Red. P is taller than S. 
छ: व्यक्ति P, Q, R, S, T और U की लींिाई अलग-अलग हैऔर उन्हें
अलग-अलग रींग पसींद हैं। S, R और T से लींिा है| Sकोकाला रींग पसींद
है। उनमें से सिसे छोटा सफेद रींग पसींद करता है। उनमें से सिसे लींिा

गुलािी रींग पसींद करता है। T को रू्रा रींग पसींद है। U और Q को न तो
लालऔर न ही नीला रींग पसींद है। U, Q से लम्बा है। R को लाल रींग
पसींद है। P, S से लम्बा है।

Who is the tallest among them ?
उनमें से सिसे लींिा कौन है?
a)  P                   b)  S               c)  U               d)  T                 e)  R

CRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.13-14

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Six persons P, Q, R, S, T and U having 
different height and they likes different 
colours. S is taller than R and T. S likes Black. 
The shortest among them likes White. The 
tallest among them likes Pink. T likes brown. 
U and Q neither like Red nor Blue. U is taller 
than Q. R likes Red. P is taller than S. 

CRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.13-14

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
Six persons P, Q, R, S, T and U having different height and they likes 
different colours. S is taller than R and T. S likes Black. The shortest 
among them likes White. The tallest among them likes Pink. T likes 
brown. U and Q neither like Red nor Blue. U is taller than Q. R likes Red. 
P is taller than S. 
छ: व्यक्ति P, Q, R, S, T और U की लींिाई अलग-अलग हैऔर उन्हें अलग-अलग रींग
पसींद हैं। S, R और T से लींिा है| Sकोकाला रींग पसींद है। उनमें से सिसे छोटा सफेद
रींग पसींद करता है। उनमें से सिसे लींिा गुलािी रींग पसींद करता है। T को रू्रा रींग
पसींद है। U और Q को न तो लालऔर न ही नीला रींग पसींद है। U, Q से लम्बा है। R को
लाल रींग पसींद है। P, S से लम्बा है।

Who is the tallest among them ?
उनमें से सिसे लींिा कौन है?
a) P                   b)  S               c)  U   d)  T                 e)  R

U (Pink) > P (Blue) > S (Black) > R (Red) / T (Brown) > Q (White)

CRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.15-16

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमेंLIVE EXAM TEST- 1
A and B start walking from point E. A walk 3m towards east 
reached point J.  B walk 5 m towards west and reached point L. 
After that both are turn right 90 degree and A walk  4m 
reached point M. B cover some distance and reach point Z.  The 
shortest distance between point M and point Z is 18m.
A और B किींदु E से चलना शुरूकरते हैं। A पूवभ कीओर 3 मीटर
चलता हैऔर किींदु J पर पहुँचता है। B पकिमकीओर 5 मीटर चलता
हैऔर किींदु L पर पहुँचता है। उसके िाद दोनो ीं90 किग्री दाएुँ मुडते हैं
और A, 4 मीटर चलकर किींदुM पर पहुँचता है। B कुछ दूरी तय
करता हैऔर किींदु Z पर पहुँचें। किींदुM और किींदु Z के िीचकी
नू्यनतम दूरी 18 मी है।
Find out distance between Point L and point Z?   
किींदु L और किींदु Z के िीचकी दूरी ज्ञात कीकजए?
a) 10     b) 11     c) 12     d) 15    e) CND

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.15-16

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमेंLIVE EXAM TEST- 1

A and B start walking from point E. A walk 3m towards east 
reached point J.  B walk 5 m towards west and reached point L. 
After that both are turn right 90 degree and A walk  4m 
reached point M. B cover some distance and reach point Z.  The 
shortest distance between point M and point Z is 18m.

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.15-16

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमेंLIVE EXAM TEST- 1
A and B start walking from point E. A walk 3m towards 
east reached point J.  B walk 5 m towards west and 
reached point L. After that both are turn right 90 degree 
and A walk  4m reached point M. B cover some distance 
and reach point Z.  The shortest distance between point 
M and point Z is 18m.
A और B किींदु E से चलना शुरूकरते हैं। A पूवभ कीओर 3 
मीटर चलता हैऔर किींदु J पर पहुँचता है। B पकिमकीओर 5 
मीटर चलता हैऔर किींदु L पर पहुँचता है। उसके िाद दोनो ीं
90 किग्री दाएुँ मुडते हैं और A, 4 मीटर चलकर किींदुM पर
पहुँचता है। B कुछ दूरी तयकरता हैऔर किींदु Z पर पहुँचें।
किींदुM और किींदु Z के िीचकी नू्यनतम दूरी 18 मी है।
Find out distance between Point L and point Z?   
किींदु L और किींदु Z के िीचकी दूरी ज्ञातकीकजए?
a) 10     b) 11     c) 12     d) 15    e) CND

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.17-18

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
There are six persons G, H, I, J, K and L in a family. There 

are two fathers, three brothers and a mother in the family. 

I is the sister of L. H is the brother of K’s husband. J is 

the father of G and grandfather of L. G is not the son of K.

एक पररवार में छह सदस्यहैं G, H, I, J, K और L| पररवार में दो कपता, 

तीन र्ाईऔर एकमाता है| I, L की िहन है| H, K के पकतका र्ाई है| 

J, G का कपता हैऔर L का ग्रैंिफादर है| G, K का पुत्र नही ीं है|

How many male members in the family?

पररवार में ककतने पुरुर् सदस्यहैं?

a) One   b) Two  c) Three  d) Four  e) Five

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.17-18

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

There are six persons G, H, I, J, K 

and L in a family. There are two 

fathers, three brothers and a mother 

in the family. I is the sister of L. H is 

the brother of K’s husband. J is the 

father of G and grandfather of L. G is 

not the son of K.

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.17-18

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
There are six persons G, H, I, J, K and L in a family. There are 

two fathers, three brothers and a mother in the family. I is the 

sister of L. H is the brother of K’s husband. J is the father of G 

and grandfather of L. G is not the son of K.

एकपररवार में छह सदस्यहैं G, H, I, J, K और L| पररवार में दो कपता, तीन

र्ाईऔर एकमाता है| I, L की िहन है| H, K के पकतका र्ाई है| J, G का कपता

हैऔर L का ग्रैंिफादर है| G, K का पुत्र नही ीं है|

How many male members in the family?

पररवार में ककतने पुरुर् सदस्यहैं?

a) One   b) Two  c) Three  d) Four  e) Five

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.19-21

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमेंLIVE EXAM TEST- 1
Input- 48976      37294        42478          74539     76438 
Step-I     89724      72912        24732         45363      64356
Step-II     30             21                 18              21             24
Step-III     18            21                21              24             30
Step-IV    90            84                63              48             30          

Step- V     09            12                09              12             03  

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.22-24

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमेंLIVE EXAM TEST- 1
“reads article there” is coded as “ D1    I4       H15  ”

“comment yours doubt” is coded as “ C17     R6    B16”

“ take exams enjoy” is coded as “ K15   E14     O20 ”

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.25-29

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE
There are seven friends i.e. A, B, C, D, E, F and G are born in different months of 
the year i.e.  February, March, April, May, June, July and August but not 
necessarily in the same order. They are like different Brand – LG, Vivo, MI, 
Realme, Apple, Dell and HP.  
G born in 30 days month and like LG. Two person born between G and A.  F born 
that month which has least number of days. D likes MI. No one born after D.  
Minimum three person born between D and E.  E likes Vivo. Two person born 
between the one who like Vivo and the one who like Apple. B born after C but 
no one born in 30 days month.  A does not like HP. C does not like HP and Dell. 
सात कमत्र हैं, जैसे कक A, B, C, D, E, F  और G  का वर्भ के कवकर्न्न महीनो ींयानी फरवरी, माचभ, 
अपै्रल, मई, जून, जुलाईऔरअगस्तमें जन्महआ है लेककनजरूरी नही ीं कक उसी क्रम में हो ीं।

G का जन्म 30 कदन वाले महीने में हआऔरउसे LG पसींद है। G और A के िीच दोव्यक्ति ने

जन्म कलया| F उसमहीने पैदा हआ कजसमें कदनो ींकी सींख्या सिसे कम है। DकोMI पसींद है। D 
के िाद ककसीका जन्मनही ींहआ। D और E के िीचकम सेकम तीनव्यक्तियोीं ने जन्म कलया| E 
को Vivo पसींद है। Vivo  पसींद करने वालेऔर Apple पसींद करने वाले के िीच दोव्यक्तियोींका

जन्महआ। B, C के िाद पैदा हआ है, लेककन 30 कदन वाले महीने में ककसी का जन्मनही ींहआ। A 
को HP पसींद नही ीं है। C को HP और Dell पसींद नही ीं है।

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q.25-29

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-145 HOUR CRASH COURSE SBI CLERK PRE

There are seven friends i.e. A, B, C, D, E, F and G are born in 
different months of the year i.e.  February, March, April, May, 
June, July and August but not necessarily in the same order. 
They are like different Brand – LG, Vivo, MI, Realme, Apple, 
Dell and HP.  
G born in 30 days month and like LG. Two person born 
between G and A.  F born that month which has least 
number of days. D likes MI. No one born after D.  Minimum 
three person born between D and E.  E likes Vivo. Two person 
born between the one who like Vivo and the one who like 
Apple. B born after C but no one born in 30 days month.  A 
does not like HP. C does not like HP and Dell. 

REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q. 30-34

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1
There are six persons are sitting in a circle facing to the center. They likes different 
colors i.e. Black, Blue, Pink, Yellow, Green and Red. but not in the same order.
The one who likes green sits 3rd to the left of the one who likes blue. The one who 
likes yellow is not immediate neighbour of the one who likes black. Two persons are 
sit between A and C. Neither A nor C likes Blue and Green. D likes red and sits 
immediate to the right of the one who likes blue. The one who likes Pink is 
immediate neighbour of the one who likes green . Two persons are sit between B and 
F. F is not neighbour of the one who likes Pink and the one who likes black. F is not 
neighbor of A.
छहव्यक्तिएक वृत्त में कें द्र कीओर मुखकरके िैिे हैं। उन्हें अलग-अलग रींग पसींद हैं जैसे
काला, नीला, गुलािी, पीला, हराऔरलाल। लेककन उसीक्रममें नही ीं।वहव्यक्ति कजसे हरा
रींग पसींद है, वह नीला रींग पसींदकरने वाले के िायें से तीसरे थथान पर िैिा है। वहव्यक्ति
कजसे पीला रींग पसींद है, वहकाला रींग पसींदकरने वाले व्यक्तिका कनकटतम पिोसी नही ीं है|
A और C के मध्यदोव्यक्ति िैिे हैं। न तो A न ही C को नीलाऔर हरा रींग पसींद है। D को
लाल रींग पसींद हैऔर वह नीला रींग पसींदकरने वाले के िीक दायें िैिा है। वहव्यक्ति कजसे

गुलािी रींग पसींद है, हरा रींग पसींदकरने वाले का कनकटतम पिोसी है | B और F के िीच एक
सेअकिकव्यक्ति िैिे हैं। F, गुलािी रींग पसींदकरने वालेऔरकाला रींग पसींदकरने वाले का
पडोसी नही ीं है। F, Aका पडोसी नही ीं है।

45 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1

There are six persons are sitting in a circle facing to the 
center. They likes different colors i.e. Black, Blue, Pink, 
Yellow, Green and Red. but not in the same order.
The one who likes green sits 3rd to the left of the one who 
likes blue. The one who likes yellow is not immediate 
neighbour of the one who likes black. Two persons are sit 
between A and C. Neither A nor C likes Blue and Green. D 
likes red and sits immediate to the right of the one who 
likes blue. The one who likes Pink is immediate neighbour
of the one who likes green . Two persons are sit between B 
and F. F is not neighbour of the one who likes Pink and the 
one who likes black. F is not neighbor of A.

45 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting Puzzle
Q. 25-29

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1
Seven employees A, B, C, D, E, F and G belong to seven different ranks/roles in a company 
given below not necessarily in the same order. The rankings of their designations in 
descending order. Chairman > MD > HOD > SM > AM > Clerk > Peon. They likes different 
colors.
The one who is a Clerk likes Orange color . C, whose designation is higher than  that of D, 
likes Black. The one who likes Pink is three ranks higher than the one who likes Orange. G 
does not belong to the top three ranks. F is Chairman and likes Blue. The color like by G is 
White. E is 2 ranks lower than F. The one having 3rd lowest designation likes Brown. 
Neither A nor B likes Brown . SM likes Red.
सातकमभचारी A, B, C, D, E, F और G नीचे दी गईकीं पनी में सात अलग-अलग रैंक/रू्कमकाओीं से

सींिींकित हैं, जरूरी नही ीं कक इसीक्रम में हो ीं। अवरोही क्रम में उनके पदनामो ींकी रैं ककीं ग हैं।
Chairperson > MD > HOD > SM > AM > Clerk > Peon.उन्हें अलग-अलग रींग पसींद हैं।
वहव्यक्तिजो Clerk है उसे सींतरा रींग पसींद है। C, कजसका पद D से अकिक है, काला रींग पसींद
करता है। वहव्यक्ति कजसे गुलािी रींग पसींद है, वह सींतरा रींग पसींद करने वाले व्यक्ति से तीन रैंक
ऊपर है। G शीर्भ तीन रैंको ीं से सींिींकित नही ीं है। F Chairperson हैऔर नीला रींग पसींद करता है। G
सफेद रींग पसींद करता है। E, F से 2 रैंक नीचे है। तीसरा सिसेकम पदनाम वालाव्यक्ति रू्रा

पसींद करता है। न तो A न ही B को रू्रा रींग पसींद है। SMको लाल पसींद है।

45 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1

The one who is a Clerk likes Orange color . C, 
whose designation is higher than  that of D, likes 
Black. The one who likes Pink is three ranks 
higher than the one who likes Orange. G does not 
belong to the top three ranks. F is Chairman and 
likes Blue. The color like by G is White. E is 2 ranks 
lower than F. The one having 3rd lowest 
designation likes Brown. Neither A nor B likes 
Brown . SM likes Red.

45 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- )REASONING के सारे TOPICS एकसाथ एकक्लासमें

Chairman > MD > HOD > SM > AM > Clerk > Peon 



Approach- How to solve sitting Puzzle
Q. 30-34

Honest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1

Certain number of persons is sitting in the straight horizontal row facing 
towards the north direction. Distance between the adjacent persons is equal. 
Only two persons sit to the left of F. Six persons sit between E and D. Only one 
person sits between F and C. Only four persons sit between Q and V. B sits 4th 
to the right of C. B does not sit fifth from the extreme right end. Only two 
persons sit between B and E, who is not sitting adjacent to F. A sits second to 
the right of D but not at the extreme right end. Not more than 16 persons 
sitting in the row. Q sits third to the left of A.
कुछव्यक्तिउत्तर कदशा कीओर सीिी कै्षकतज पींक्तिमें िैिे हैं।आसन्नव्यक्तियोीं के

िीच की दूरी िरािर है।

F के िाईींओर केवल दोव्यक्ति िैिते हैं। छहव्यक्ति E और D के िीच में िैिते हैं।
केवल एकव्यक्ति F और C के िीच िैिता है। केवल चारव्यक्ति Q और V के िीच में
िैिते हैं। B, C के दायें से चौथे थथान पर िैिा है। B दाकहने छोर से पाींचवाीं नही ीं िैिता
है। B और E के िीच केवल दोव्यक्ति िैिते हैं, जो F के समीप नही ीं िैिा है। A, D के
दायें से दूसरे थथान पर िैिता है, लेककनअींत दायें छोर पर नही ीं है। पींक्तिमें 16 से
अकिकव्यक्तिनही ीं िैिे है। Q, A के िाएीं से तीसरे थथान पर है।

45 HOUR CRASH COURSE SBI CLERK PRECRASH COURSE SBI CLERK PRE (Day- 1)REASONING के सारे TOPICS एकसाथ एकक्लासमें



Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting PuzzleHonest Approach- How to solve sitting Puzzle Day-1

Only two persons sit to the left of F. Six 
persons sit between E and D. Only one 
person sits between F and C. Only four 
persons sit between Q and V. B sits 4th to 
the right of C. B does not sit fifth from the 
extreme right end. Only two persons sit 
between B and E, who is not sitting adjacent 
to F. A sits second to the right of D but not at 
the extreme right end. Not more than 16 
persons sitting in the row. Q sits third to the 
left of A. 
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